ZEREASR (B

ZEVSM Ot 5—

IRNF—TSHHEHN1 R LERE

20255 FF ﬁh t
X5 mE 48 5H 6H 1H 8H 9A 10A 1A 128 18 2R 3 as

BIE 292 - - - - - - - - - - - 292

Bl 97 = - = - - - - - - - - 97

BEEE 21 - - - - - - - - - - - 21

BE7 LAY 65 - - - - - - - - - - - 65

BEIRAFVIE X1 209 - - - - - - - - - - -| 209

BIEDERE 105 - - - - - - - - - - -[_105

DNOR G (FEALIRD) - - - - - - - - - - - - -

AT i - - - - - - - - - - - i

EEREN T - = - = - = = = = = = = -

HNER X1 - - - - - - - - - - - - -

2T - - - - - - = - = - = - =

TLT - - - - - - - - - - - - -

BT = I I I I I = I R I B I N

ASATE X1 6 - - - - - - - - - - - 6

BT T B o ey

05T 2r-HIMELFED BEABRIED) 20 - - - - - - - - - - - 20

ESEEY 1,157 - - - - - - - - - - - 1157

EIPRET: 3 29 - - - - - - - - - - - 2

R o [ o

EEfEE7 LN 0 - - - - - - - - - - - 0

BAGE BREEED 399 - - - - - - - - - - - 399

EXEREN P ) ) e ) O ) B ) I I B

SRR 0 - - - - - - - - - - - 0

S AS RN = I I = I N I N I B I R

SERERET LN 0 - - - - - - - - - - - 0

_ﬁfgﬁ*@ ;i:ﬁ(ﬁf%ﬁfﬁ%’&at) 2,643 = = = = = - = - = - = 2,643

Bt 5,046 - - - - - - - - - - - 5046
IRNF—TSHRA25IF DB EE

20254 ¥ Bt

X5 =] 4R 5H 6H 18 8A 9A 104 118 12H 18 28 3A a5

B 365 - - - - - - - - - - - 365

Be: 121 - - - - - - - - - - - 121

Befk 26 - - - - - - - - - - - 26

BE7 LAY 82 - - - - - - - - - - - 82

BEJSAF VI X1 262 - - - - - - - - - - - 262

DiEDIERE 131 - - - - - = - = - = S E

BNOI I (REAIED) - - - - - - - - - - - - -

AT 2 - - - - - = - = - - - 2

EEREY HT = = = = = = = = = = = = =

DBNEE X - - - - - - = - = - = - =

2B - - - - - - - - - - - - -

EVRS S - - - - - - - - - - - - -

BT - - - - - - - - - - - - -

HIATE X1 7 - - - - - - - - - - - 7

BEERTED 3 - - - - - = - = - = - 3

AT 51 MELFED EABBIES) 25 - - - - - - - - - - 2

BAREY 1,448 - - - - - - - - - - - 1448

EIPRET: 3T 36 - - - - - - - - - - - 36

AR o [ o

BRMEET LAY 0 - - - - - - - - - - - 0

BAEE BEEEEY 500 - - - - - - - - - - -[_500

EEBEREN SEAE R - - - - - - = - = - = - -

SEEEBIE 0 - - - - - - - - - - - 0

SEAE RN - - - - - - = - = - = - -

EEEEET LAY 0 - - - - - - - - - - - 0

— R EEY ;i:ﬂ(ﬁf%ﬁfﬁ%’éat) 3v30§ = - = - - - - - - - = 3130?

&t 6.318 - - - - - - - - - - - 6318

X1 BREHERREMERS

TOtIRBIFIRBOERERY ., [ — IRTITVERERLERLTVET




IRNF—TSTBR RN LB R

20254 Bt
) L] 48 58 68 7R 8H 98 [ 10A | 1A | 12A | 1A 28 3H | A%
B 37 - - - - - - - - - - - 37
PRZ 5 452 - - - - - - - - - - -| 452
AT Al - - - - - - - - - - - - -
EVCA 73 - - - - - - - - - - - 73
ANEF X1 = - - - - - - - - - = N =
SRS = - - - - - - - - - - - -
EREEY AT B LELL%GD(:J'}U FEEDIZES) = - - - - - - - - - - - -
BETSRAF VO - - - - - - - - - - - - -
A< = - - - - - - - - - - - -
S = - - - - - - - - - - - -
< S = - - - - - - - - - - - -
TLLF = - - - - - - - - - - - -
EGREEY = - - - - - - - - - - - -
ij /ﬁlﬁf‘. - - - - - - - - - - - - -
A EE ST AERAR 29 - - - - - - - - - - - 29
EXREY FEHEEVCA 391 - - - - - - - - - - - 391
SEA ML - - - - - - - - - - - - -
AR (Rl EE—RREENESE) 2,540 - - - - - - - - - - -|__2540
e E FWCA (BRIEE—BREZENEET) - - - - - - - - - - -
AR 7 (BE7 73T 4R, #R<TZEDRELST) = - - - - - - - - - - - -
&t 3,521 - - - - - - - - - - -[ 3521
THRAF—TSHRILHER LR
2025%F /¥ BTt
X5 L] 4R 58 68 78 88 98 108 [ 11A | 12A 18 28 3R BE
5iE 258 - - - - - - - - - - - 258
ERBERY Dl DERS -
—RREEZEY AR # (e, BERES) = - - - - - - - - - - - -
a5t 258 - - - - - - - - - - - 258

X1 BREHERRZIMERS

Tot)RBIFIRFBOEREARY ., [ — IRTITNERERLERLTVFT




ZEPREAR M) ZEUYHAOILEE—
IRINX—TSHBAMEER/HEH R
20254 B

[FLCADBREDEMKRLIEE]

FVOCADKREET--B

20254

20264

48 5H 61 7H

8H

9H

10A8

1118

128

2H

3H

151FA/8
AR E

25I1F(A/H

1547 A/8
BEH R L IREG %

251F(A/H

AENE R tpeE| A/8

HEH R LIRS % teeE| A/8

(HEHRDAHHER]

REGLE

A EDREY

HERL-FAH

AERRELFONIE

AIEIRE B | 4

NIES

LA g/m Py

ERBY | oom [

FNEERIE 2547

ENERE 15;-5;5"

3
#BibkE mg/m 2_%.*5"

maEim | kLo

2'59;5"

1247

@42"-‘\'—99@ ng-TEQ/m3

254




